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ANSWERS
Complete at least 2 columns, more if you can!
	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Have a go at comparing these number sentences:
<

6 + 4                      5 + 6
  10                        11
 
13 + 5                15 + 2>

    18                      17
=

10 + 10              12 + 8
    20                      20
<

22 + 13           27 + 11 
    35                    38

31 + 18           32 + 17 =

    49                           49
	Practice
Have a go at comparing these number sentences:
>

13 + 6                 20 - 2
   19                     18

24 - 8               30 - 10<

  16                      20
=

32 + 8                 40 - 0
  40                       40
>

24 + 12            46 - 14
    36                       32
=

21 + 17              46 - 8
   38                       38



	Reasoning
Explain your answers.
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	Problem solving
Find all the possible combinations to complete the statement using up to two of these digit cards:
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6a. B because thirty and eighteen is more
than forty-seven.
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6b. A because eighty and two is less than
eighty-three.
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4a. Find all of the possible combinations
to complete the statement using up to
two of these digits cards.
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4a.1,5,8,9, 15,18, 19, 51




